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THE PROBLEM

Brachytherapy: a radiation tfreatment where

Issue: when the tumour is located close to organs,
the radiation can damage them, causing further
health complications.
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Where to place the radiation to minimise the
damage to healthy tissue while still treating
the tumour?

radioactive seeds are placed directly on the tumour.
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Key Tool:
PDE Constrained Optimisation
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THE IMPACT

Currently, clinicians do not have a tool to create
treatment plans for brachytherapy.

This would provide them with one.
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The Process
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given to the
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them create their
treatment plan.

SIMULATICONS
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Peak location = Seed location Peak height = Seed strength

Position: 0.35 Position: 0.65
Strength: 607 Position: 0.5 Strength: 607.
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